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(3] [C]
: 1T - 1 / PART — |
91 {8 @ [ARISRE / CHILD DEVELOPMENT & PEDAGOGY

Direction : Answer the following questions by selecting the most appropriate option.

1. “Tms 3 fgae (@@) afes 78 & oin
Tg e (TrEg) T I & 7 By
Faftgd g% W' S 3§ eEn

S faeE @ T8 SEen FeEad
g

(1) |1 T e
(2) -FramE F
(3) ¥y frame @
(4) A fFaTs F

2. fpafafag & & FH-wr o

SAHUTOM FT I T & 7
(1) gfyem

(2) Iuaf @ FGFFA

(3) STHE T '

(4) wmrEr

3. IS B GG A B f[(EH 3 fom
frfofaa & & @9-d@ a6
Hferps w9 & 7
(1) SHRAEHarE
(2) @ETE
(3) e

4) g

/I./evel—ﬂm 01

"Reasoning of child is not logical and is

based on intuition rather than on

systematic logic." According to Piaget
this stage of cognitive development is
called : 1

(I) Sensory motor period

(2) Preoperations period

(3) Concrete operations period

(4) Formal operations period

Out of the following which is not the
example of intrinsic motivation ?

(I) Anxiety

(2) Need for achievement

(3) Level of aspiration

(4) Praise

Which of the following parenting styles
is most effective for development of
Children's social competence ?

(I) Authoritarian

(2) Neglectful

(3) Authoritative

(4) Indulgent

BITIOL
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4. Prfofed & @ - Rror-sfems
SETEAT (Pew) Gl & s A
e qgET ¥ 7
(1) Rt & @ @1 @ R A

HeEar HT |

(2) faeffat #t Maw (@dw) e 3
fore srefed &)

(3) Fmmr-afrmy & 3R e @
arfafafesa | |

(4) fenfifgt @t SremgaEdt o faew
Hafte ¥g Arfest wem F

5. 0 M AE gHEiET B fawg A
fFrfafad & § P9-a1 #2995 707 B 7

(1) & femea smaRa geai 2|

(2) 38 fafE & e qw afsf
2 g1

(3) 3 PreFTEEs gedide a9
4

@) & fom Sfuafa o e
Al et saeT # S

(4]

Which of the following strategies ?f

teaching-learning is obstacle 1n

developing creativity ¢

() Help students 0 think in flexible
ways.

(2) Encourage students to take risk.

(3) Overcontrol students . during

teaching-learning.
(4) Guide students to be persistent and
delay gratification.

Which of the following statement is
incorrect about the continuous and

comprehensive evaluation ?
(1) It is school based evaluation.
(2) It includes all aspects of students.

(3) Diagnostic evaluation is not

included in it.

(4) Both formal and informal

techniques are used for it.

Which of the following is a significant

fact about the development ?

(I) It does not follow a predictable
pattern.

(2) It is a product of the interaction of
hereditary and environment.

(3) All individuals have similar rates of
development.

from

(4) Development  proceeds

specific to general.
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5] <l

- Rl dfem 7. Which of the following is mof a
characteristic of disadvantaged child ?
AT % () Suffers inadequacy of basic
bl & necessities of life.
A aEddtfE stfian g (2) Provide the basic and universal
right.
G IS F: g (3) Risk of future psycho-educational

problems.
(4) Denied the opportunity to grow

normally at his/her own rate.

8. A child who is high and low in a
characteristic (such as anxicty. or
sociability) will remain so at later ages.
This  statement stresses on the
importance of :

(1) Hereditary
(2) Environment
(3) Hereditary and environment

(4) Maturation

9. The domains of development such as
physical,  cognitive, social and
emotional are developed in which one

of the following process ?
(I) Distinctly

(2) Partially

(3) Randomly

(4) Integrated and holistically

Polv@L



1cl

11.

3 W A s A B 7

www.makemyexam.in - Powered by IBT

Pt & @ d9-d aEeiE A
(Tn) afm & ofofa wEer @
aafegd 7@ R 7

(1) Sffa (2) Rt ()
@) 17 (4) g ()
= & SR, skt F # oo

it 9T A AEE B Hfaw e
3 faEey gra EArd ey e g,

# Fed

(1) w7 g Af
(2) W7 37 Hg
(3) T @ @
(4) T afet &= (7a)

U qE B A
Fﬁmﬂ‘oﬁﬂg ﬂa‘sﬁﬁliﬁqaﬂa;r
ST qafefq @

Q@TW% TF al

g!ﬁr(ahusaﬁu%mzaa%?
(1) FEICIT

(2) T
(3) 9IETTIIAT
(4) T AfE e

B g Frffeg 3 @ #9-3

(6]

10.

U

2%

13.

Which of the following behavioural

characteristic is nof related to the

motivated behaviour of the

individual 7

(1) Energized (2) Directed

(3) Separated (4) Sustained

According to Chomsky, an innate
s the

capacity to acquire language i
result of our uniquely human biological

inheritance, is called :

(1) Language Adaptation Degree

(2) Language Acquisition Device

(3) Language Acceptance Desire

(4) Language Acquire Domain
According to Kohlberg which level of

moral development of a child shows no
internalization of moral values and the

moral reasoning of the child is
controlled by external rewards and

punishment ?

(1) Preconventional

(2) Conventional

(3) Postconventional

(4) Universal ethical principle

The nature of emotion correctly depicts

in which of the following statement ?

() Some emotions has behavioural
aspect.

(2) Emotions are permanent state of
the organism.

(3) Emotional expressions can not be
modified by learning.

(4) Every emotion is accompanied by a
feeling.
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(7] [C]
14, sftrrrdtell & @0 o e geE 14. Which of the following statement is
& fmm o frefofae & BT o correct about the continuous and
T e comprehensive evaluation of learner ?
(1) e (Armeme) sbem ahgerfis (I) Summative assessment is called
T B 8 | formal assessment,

(2) HHfer STFE ST TRl (2) Summative assessment is called
e & | informal assessment.

(3) HHET AT IFRIE  ufpmr 3 (3) Summative assessment is during
R the instructional procedure.

(4) Tefer arher fenfafat = BALEIED| (4) Summative assessment emphasise
& e 9T T e ¥ on diagnosing difficulties of

students.

15, frfafes & @ P-4 IR 15. Out of the following which tool is not
SIS (Ffoe) st @ fera seems to be appropriate for formative
UG Heft 7@ e & ? assessment ?

(1) gearrdt (1) Quizzes

(2) ArEvE H@affa qfayor (2) Criterion Referenced Test
(3) @& 9 ] (3) Group discussion

(4) areteTy (4) Conversation

16. ffofad & @ F9-ar g R & 16. Which of the following question
Ted R & Al P Aeafed s § 2 encourages a deep style of thinking ?
(1) o (—;—)Eﬁl uferm g & 7 (1) What is the inverse of one half ?
(2) A (EEI'& 2| @a) I e (2) What is the lowest prime number ?

?
I (3) How much milk would you use to
(3) ot " & 9 g F Rre e make half of the tea ?
Sl ST B ? (4) What does it mean to say that
(4) A (M), g (wera) @1 foemm addition is the opposite to
BT 8 FE 1 T anad § 7 subtraction ?

Level-1/3101 Pal«0.
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18.

19.
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Characteristic of social constructwlst

approach of learning is

(I) Emphasis on child's cognition for
|earning.

(2) Emphasis  Of processing of

information for Jearning.

(3) Emphasis on collaboration with

others for learning.

experiences for

(4) Emphasis ~ on
learning.

Jowing category of

Which one of the fol
Howard

intelligence is not suggested by

Gardner in his multiple intelligence

theory ?

M Mathematical Skill
(2) Musical Skill
(3) Interpersonal Skill

4) Practical Skill

According to Vygotsky, a range of task
too difficult for the child to do alone,
but possible with the help of adults and

more skilled peers, is called :

(1) Guided Participation

(2) Scaffolding

(3) Zone of proximal development

(4) Inter subjectivity



B

—Wirwrrateryesem=——rowered by |

20. Prafofem & @ &8 Fow fopg 3
v § g ?

(1) Rore & sfemrd ol smor oy e

4

) Frm o S W gE
(ufepam) & |

(3) Foe W b a1 e
(®e) B

(4) Formra ol W srafag ¥

21, e goue # Frefofeg ¥ 4 e
9 ufteferg 787 ® 7

(1) 3RS} &1 T ey
(2) sREweaTatt &1 Fmfor s

() YT 3 TR oy

(4) m%ma@mm

HFHA T B AR Rfraet A
o & o frefofes & @ far o
(v=) deefa 727 % 7

(1) R & Feaaatt & 98 s
HTAT

(2) @RI SR 3
(3) mﬁmmﬁm'maﬁtwm

(4) fafere wfewsl & weam FHe

 Level-1/3101
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20.

21.

22.

H

(VY

(C]

Which of lhe'following statement is
incorrect about thinking 7
(1) Thinking

uses

imagcs and

language.
(2) Thinking is a form of information
processing.
(3) Thinking is the set of cognitive
process.
(4) Thinking

unrelated.

and  language are

Which of the following step is not
included in problem solving ?

(1) Accumulation of data

(2) Formulating hypothesis

(3) Verification

and making

generalization

(4) Responding to the stimulus

To meet the individual differences of

learners which of the following step is

not required ?

)

Individual's abilities assessed

accurately
(2)
3)

Individualisation of instruction

Indentification of sOcio-economic

status

(4) Identification of special talents

P TH0!
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Ry @ oo ¥ oF  fadw
SragrE A A @ Frafa (@)
e o [ &

(1) %8 g7 & o

(2) sferater gwg & forg

(3) T a7 & fom

@) P & gmbm  ofaffdt 3
AR

ag-afu (1 3 %4 (@) Rerd 3
gqds B & 7

(1) #fag méaT

) s

3) %o uwo dfieE®
) o o firTHE

st s (R SwgE W A
et 1 o A B

(1) 78 am ¥ ohv e olre arepia

geer @ 2l B

@) & o ¢ ol @l Al

a= & gt @ B 8

[10]

23.

24.

25.

26.

nclusion’ means educating a

The term ‘i
n the regular

child with spGCial need 1
classroom for :

(1) Some time
(2) Most of the time

(3) Full time
(4) During social activities in the

school

Who was propounder of Multiple

intelligence (Frames of Mind) theory ?

(1) Howard Gardner

(2) Alfred Binet

(3) E. L. Thorndike

(4) J. P. Guilford

chﬁning disabil'ity can be appropriately

defined as :

(h It s extrinsic
educational & cultural deprivation.
It is intrinsic and due to central
nervous system dysfunction.

It is extrinsic and due to emotional

and due to

(2)

(3)
disturbance.
[t is intrinsic and due to mental

4)

retarddtion.

The child is raised in isolation from
human contact often show extreme, long-
lasting language deficits that are rarely
entirely .overcome by later exposure to
language. This evidence support to which
aspect of language development ?

(I) Environmental (2) Biological

(3) Interactionist (4) Pragmatic
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(11] (€]
27. W au gEfed Hfem g qﬂ'lj’ﬂ‘ﬁ@ 27. The highest level of learning in the
e W R hierarchy proposed by Gagne is :
(1) g9 gumE Aty : (1) Preblem Solving Learning
2) fer ™ (2) Principle Learning
(3) T (3) Concept Learning
(4) e AT (4) Skill Learning
28. frfofes & & ofrm -4 28. Which ome of the following situation of
Rl a@-2Ea e @ ey 7E learning is not based on child centered
2?7 education ?
(1) & iy () Problem based
(2) =T (@G‘I) (2) Discovery
HED) FrefRr arwe (@“) (3) Guided discovery
(4) wasts

(4) Demenstration
20. Freffofam A & B g s fras

29. Which of the
de® Zr RaRa Rear T 2

l‘(‘l_!‘l'-\.’.‘.g 1S a

supplementary law  of |earning
. propounded by Thomdike ?

(1) qear & (1) Law of Readiness

(2) 9§ e & frm (2) Law of Multiple Responding

(3) | @ fygy | (3) Law of Exercise

(4) w¥E i g (4) Law of Effect

30. e R 30. Leaming is :

(1) st B B A=A % g8 g9 iy (1) Everything we know is learned.
R Bam % '

(2) TR, TH I Py w SRLGED (2) A relatively permanent influence

" W g9 B | on behaviour, knowledge and skill.

(3) T FY H gwh IR "o drg (3) Directly observable and
(g _ measurable.

(4) fafire g @ @ dfta B

(4) Limited to particular age level.

Level-1/3101

2 [



www.makemyexam.in - Powered by IBT

[12]

wFT—- 11/ PART -1
AL (= ©d 3firsf) / LANGUAGES (HINDI & ENGLISH)

s [ =1/ HINDI ]
M%Wﬁémmmﬁwﬁw

e I e o R 35, 7% e & oM & & T | T
D GRS S 9% & gaAmRe ARy
Eﬂ’ﬁw (1) Heearas

_. iq ., (2) FoarH
4) Rema & 1 755 (3) Fomre
(4) fezgar=s

36.

37.

. (4) ITfEE

fe & @ Red PreeT B sl 9@ 7
37
(1) FEagas

(2) ™

(3) TIETAITE
(4) fepan-fasmor

gwmﬂﬁﬂzﬁrazmgﬁq

(1) 7

(2) TARA

(3) TR

(4) fartan
ﬁqﬂémﬁmﬁmm
F M & B 7

(1) I9d -

(2) 9Tt

(3) Ry




. TuEd Ah ¥ A H de
@it o 1 dsme e B
(1) e st
2) e F
() fErEs T
(4) STfcaras @sT
RAwr & fffd woams o 72
;. .
(1) STefEa
@) g
'(3)%?”
@) s
M. T WA A TR @
Eiftey &t & Rk & 3 e vt

(1) T e e R

Q) T R e R

G) wgEEs  Ffteq demEEs
fargreor |

4) gfvaEs ffed demEes
T |

[13]

42. mmmm%

43.

44,

45.

(1) el Ao 3 srerefen el |
(2) 381 & g &
(3) T I A A T Al

(4) #4 foart 2 o fmn

arit gfte & oy fae i

(1) Taen
(2) "gwE
(3) HT:FHEAT

(4) e

ng

(1) Heelgor — fggagey

(2) T — AT

3) & — Foa
(4) g9 - 3 EgH

[C]

1y AU
-t

(1)35:*3’31:{:33-‘33;
(2) 9 +3[ = w=fy

(3) T + < = Ted

(4) I + INHE = TR

Level-1/3101

PrTE 0!
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[14]
| [ 3fft / ENGLISH ] ]
_ wer the following questions by selecting the most appropriate "P”M
v the blank space with correct 49. What are the positive and comparative
b in the followlng sentence : degrees of the adjective "Best" ?
u e lold.lorl fought ................ A
(1) Good, Better
_* ek (2) Ok, Good
(2) Lucki
@ ly (3) Better, Good
(3) Bravel
f@.} i (4) Best, Best
(4) Clearly
e verb

50. Choose the cerrect form of th

7. Fill in the blank with the correct .
on "Read" in the following sentence

NoORY a play by Bernard

by SOUr,
Shaw.

4 (1) had reading
bemrmng ' (2) am reading

d turr ? 4 (3) are reading
1Isturn C ; . ' (4) has read
51. Fill in the blank with appropriate modal

from the options given below :

you mind opening the window ?
(1) Can
(2) Could

(3) Would

(4) May



W

[15]

/w.makemyexam.in - Powered by IBT

(€l

55. Which one of these options has the
words arranged in proper order to form

56.

a correct sentence ?

(1) Lies the / wears a / uneasy / head

that / crown.

(2) Uneasy / lies the / head / that wears

/ a crown.

(3) A crown / lies the / uneasy / head /

that wears.

(4) Head / uneasy / a crown / that

wears / lies the.

Fill in the blank with the correct

option :

clock tomorrow afternoon.

(1) left

(2) will have left

(3) leaves

(4) leaving

....... from Delhi at 3.00

P.T@




: options given below :
st question before Srou

-
4
‘\,‘

[16]
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59. Fill in the blank SP3 |

60.

ce with correct

llowing sentence -

article in the fo
: ....... Indian

.“r

My brother is in =+

army.

(1) a
) an ' 1.

(3) the
(4) zero article

Choose the correct preposition from the
following

given options ~in the

sentence :

There is a label ............. .. the bottle.

‘(1) on

(2) in
(3) at
(4) into
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[17] [C]
9T~ 1l / PART ~ Il
HIMI S7939 / GENERAL STUDIES

[ S Qad, T Sftemar qon avieg @1 0d AR / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]
R : Rttt 7ol @ 577 83 3 o wwd o ey el

Direction : Answer the following questions by selecting the most appropriate option

61. 666 +6+3 FH HH O % . 61. The value of 666 6+318 cqu.]l {o
(1) 37 @) 1 (1) 37 (2) 111
(3) 333 (4) 38 (3) 333 (4) 38
s 96
62. IR %:%’ & | 7 719 & - 62. If ]—16-: -1—1— then value of x| 1s
(1) 28 (2) 36 (1) 28 (2) 36
3) 52 4) 56 (3) 52 (4) 56
63. P ft F 757 0z F I FD - 63. Find the wrong term in the following
445,221, 109, 46, 25, 11, 4 Sl
445,221, 109,46,25.11.4
SvRa) (2) 46 (1) 221 (2) 46
e 25 (3) 109 (4) 25
64. = % & - R~ wa@ o1 & 7 64. Which of the following fraction is the
. _ smallest ?
13 17
1) = 2) —
(1) ve (2) Y a 13 o 17
16 2
15 7
) = 4 1 <
19 & 8 (3) L (4)
19 S

Level-1/3101 P.T.0.
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@) 20%

() 210
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65. If the side of an equilateral triangle is

67.

(4 XIMD

decreased by 20%, then its area is

‘decreased by :

(1) 8% (2) 16%

(3) 36% (4) 20%

Find the next term of the series :
0, 6, 24, 60, 120, ?
(1) 180 (2) 210

3) 216 (4) 240

X' and 'Y' are brothers. 'B' is the
daughter of 'A". 'A" is wife of 'Y'. What
is the relation of 'B' to 'X' 7

(1) Sister-in-Law

(2) Niece

(3) Daughter

(4) Sister

In a certain code, 'PURE' is written as
‘QVQD’ and 'COPE' is written as
'DPOD', then '"WHEN' is*written as :

(1) XIFO
(2) XDIM

(3) XIDM




|

Find the odd one :
(1) Mereury () Venus
& e ("3,)_ Sun (4) Saturn

?{ | 71. In five friends, A scores more run than

ol -

q %ﬁ" C but less than D, B scores more than D |
but less than E. Who scores the
maximum runs ?

. B (1) C | 2) B

(3) D (4) E

AR | 72, If 2-x4

, then value of «x
1S 1+

B
3+—

an =2 ‘o2

17 L

16 20
&z @ @2

PEIND.
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(h 74
4)

YL FE %:* '
(e |
Ry |

i |

B qud B AG b
T
U TR

-

78, A wein ls moving with @ opeed of

Z:

/5

5

10 k. I speed 10 IREUS o
wacul 8

(1) 0 wm/ses

(2) #) w/ses

(1) 30 w/wes

(A) 25 m/sks

ISl 4l W, then ¥ s Equal W

(P (H M

LY) /% (4) 32

JOGOIS o« f2 75 is eyl W

(1) ) %S (2) I W

(3) 613 (4) 125

Sabow) Bae Finha A fiow hia hows i
labss Pwwy lefl binn and then one gt
wuw;m'ialm whowl 11 the by s
fleimg Eaed, vl jussiing ihe sshionl,
wineh disalion v e bwve faswng
b P '/
(1) DNrth

(3) fast

(2) Sowih
(4) West



: {:l i
i -» ar X & A
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70 GT. (-2%

78.

79.

“4) 28

of xis :
(M1
.(2) 2
(3) 4
4 3

[n a certain code language, "pul ta nop”
means "fruit is good”, "nop ko tir"
means "tree is tall" and "pul ho sop”

means "eat good food". Which of the

following does mean fruit in that

language ?
(1) pul
(2) ho
(3) nop
“) ta

\

In a row of trees, a tree is at 11th place

in the row from the left and 16th place

from the right. How many trees are

there in this row ?

(1) 25
() 26

@ 27

R. T.0.



www.makemyexam.in - Powered by IBT

2 3t & ol b, ¢ 10
R MM a+b+c=13a a
aﬁil"lﬁ't ;
) 32
A S 4
ﬁ q P91 gafea 78 & 7
et
i — e
E g
A — FHEA
ST ¥ R AW —(2013?1 ot
'raz,m(ﬁ{@az vV

[22]

81.

82.

If ais greaterthanb by 2 and b jg

greater than ¢ by’10 anda+§+¢,

130, then value of(b+c)—ais:
(1) 28 '(2) 32

(3) 34 o (4) .44

Which of the following is not correctly

matched ?

(1) Badkhal Lake~ Faridabad \
(2) Khalilpur Lake — Gurugram

(3) Chandlai Lake — Jhajjar

(4) Karan Lake - Karnal

Neeraj Chopra won a Gold medal at
Asian Games — 2018. He is associated
with which sports ?

(1) Javelin Throw

(2) Table Tennis

(3) Archery

(4) Shooting

The c_apital of Yaudhey Gana was :

- (1) Rohtak

(3)_ Kln'ukshetra

(2) Hisar

.
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84. ®@mm IH 3 =y 9 I 84. Who is known as Haryana Kesari ?
g ?
1
(1) & &g ™ (1) Sir Chhotu Ram
2
(2) ST ST T (2) Lala Lajpat Rai
3)
() do I T (3) Pt. Neki Ram
(4) ST T | '

(4) Lala Murlidhar

ss.mﬁlssvﬁmrﬁamﬁmﬁq

85. Who was the leader of the revolution of

a1 ? 1857 in Panipat ?

(1) ¥ 3 Faew (1) Imam Ali Kalander
() FFT Il (2) Akbar Alj

() feErE o (3) Bisarat Ali

(4) wgEH

(4) Sadruddin

86. YW R & 5 a=rha spmrog 86.

How many wildlife sanctuaries are there

g7 in Panchkula district ?

(1) & (1) One

Q & (2) Two

(). d= (3) Three

(4) =T (4) Four

87. BRE™N 7 fFaw gyEfE IyEve ¥ 2 87. How many administrative sub-divisions

- are there in Haryana ?

1y 73 @) 93 73 ) -

(3) 49 @) 62 (3) 49 (4) 62

Level-1/3101
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2001 & 2011 & 5y sfamn ) ZvdE
(1) 28.43%

. (2) 22.62%

(3) 44.59%

4) 19.9%

TR G ArEEh Reatmes st
2 i
(1) Saem B &
(2) @rma P &
(3) TEIH et &
(4) FETT B 7

e mﬁ'ﬁﬂﬁﬂlﬁ@%?

[24]

The decadal population growth of

Haryana for the period of 2001-2011 is :
(1) 28.43%
(2) 22.62%
(3) 44.59%
(4) 19.9%

Maharana Horticultural

Pratap
University is situated in :
(1) Ambala Distriet

(2) Sonipat District

(3) Gurugram District

(4) Karnal District

Identify the group, of which all the

are associated with Metro

cities
project :
(1) Gurugram, Faridabad & Sonipat
(2) Gurugram, Palawal & Bahadurgarh
(3) Gurugram, Faridabad &
Bahadurgarh

(4) Gurugram, Manesar & Faridabad
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(25) | [ C]
917 - IV / PART = IV
11 / MATHEMATICS

R : Frafaern el & G 3 @ o g o e g

Direction : Answer the following questions by selecting the most appropriate option

9. x H HF FW  #H#Pm R 91. Find the wvalue of x  if
BEE 540 w225 4 55 5 R
(N 3 (2) 5 (1) 3 2) §
(3) 6 4) 7 3) 6 @ 7
92. IR} q Tw b A Gfidy H=am 3' @ a 92. If both a and b are rational numbers,
aur b & 9 B wfe 3 foo s find the values of a and b in the
Hifog following equalities :
V3-1 V3-1
ot = b 3 —
y ﬁ+l a+ ‘\/5 ﬁ-tl‘{l+bﬁ
(Hrg=—1,b=2 (1) a=-1,b=2
@Z)a=1b=2 (2) a=1,b=2
(3) a=2,b=-1 3) a=2,b=-1
4) a=-2,b=1 (4) a=-2,b=1

, T Fd & ffT TR/SPACE FOR ROUGH WORK

ﬁ"' = Mf*(éﬁ
3%\

Level-1/3101 P.T.O.
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-.emma?r‘lsﬁ-ﬁﬁgui

[26]

- —

93. Raju sold two fans for Rs. 990 each. On
selling one fan, he had a gain of 10%
and on selling other fan, he had a loss of
10%. Find his gain or loss percent in the

* whole transaction :

(1) 1% loss
(2) 1% gain
(3) 2% loss
(4) 2% gain

94. A and B can do a work in 10 days. B
and C can do the same work in 15 days.
C and A can complete the same work in
20 days. In how many days can C alone

complete the work ?
(1) 120 days
(2) 118 days
(3) 115 days
(4) 110 days

T 3 R sFE/SPACE FOR ROUGH WORK




[27] [C]

95. 30, 17, 43, 39, 18, 40 & #fegs sma 95. Find the median of 30, 17, 43, 39,
FifoTy 18, 40 :
| (1) 34.5 (1) 34.5
| (2) 30 (2) 30
(3) 39 (3) 39
4) 43 (4) 43

| 96. & Wﬁg‘gﬁ’[ % faot # "9 16 A 96. The diagonals of a rhombus measurc

| 41 30 &t 21 gFH 9 ST Fi 16 cm and 30 em. Find its perimeter
(1) 63.5 3 (1) 63.5cm
(2) 653 (2) 65cm
(3) 68 & (3) 68 cm
(4) 70.2 & (4) 70.2 cm

% Fd 3 T sE/SPACE FOR ROUGH WORK

Level-1/3101 P.T.0.
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WWW. - v -

4 ﬁ@ﬁ:f,léﬂ' Bo
l )

@) 1.80%0

~ (3) 2.50%0

gel 7.50 o §fy dHrex # @

‘ﬁm*ﬂwﬁzo%maﬁﬂ_

97. A shopkeeper bought some pencils at

Rs. 18 a dozen and sold them at a

 profit of 20%. Find the selling price per
pencil :

(1) Rs.1.50
(2) Rs. 1.80
(3) Rs.2.50

(4) Rs.2.60

98. The cost of fencing a rectangular field
at Rs. 7.50 per metre is Rs. 600. If its
length is 24 m, find its breadth :

(1) 16m
(2) 16.8 m
(3) 20 m

(4) 208 m

,&x, > o %ﬁfrz STE/SPACE FOR ROUGH WORK

(=" \93;
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[29] [C]
99. WA gt & B e ® 99. The area of an equilateral triangle is :
V3 3
(1) '4—“2 Tt g (1) %az $q. units
() 2a° Tt & (2) 2a* sq. units
3) J3a* Tt g 3) 3 a? Sq. units
(4) i}“z'aﬁ T (4) *Jgﬂz 5q. units
100. ;R  x=1 aar  y=2, g 100. If x=1, y=2 is a solution of the
a’x+ay=3 F & A, & a T 7= equation a’x+ay=3, then find the
T HiforT values of a :
M a=1,~3 1) a=1,-3
@) a=1,2 2 a=1,2
(3) a=-3,2 3) a=-3,2
4 a=-1,-2 4) a=-1,-2
' % #@ @ T STE/SPACE FOR ROUGH WORK
¥ \
» F}] s ‘9'_
7=
02’ 7_/\ C'/\(ﬂ ’_5
oA

Level-1/3101 P.T. 0Ot
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130]

area of metal sheet is

o for A G 101. How much o g
bl ga ‘make an open cyl]ndﬂcal

F TR B g A | required to . ;
i ﬂw # STATIHT tank of radius 3.5 m and height of 12m’
. (1) 305m’

(2) 285m’

(3) 292.7m’ .

(4) 302.5m’
'1_02. Find the value of :
0.ﬁ5+32
(i) 0.078125
| - A (2.) 0.78
(3) 0.72185

(4) 0.0078125

% adk

7  Riq TE/SPACE FOR ROUGH WORK
d _il-._; } 5
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[31] | (Cl

-

| & HCF I 103. Find the HCF of 527, 1020 and 11594 :

(1) 13

(2) 14

(3) 17
4) -19
e’ 104. Two cubes of sizes 4 cm and 6 cm are
ik ! Glﬁl'{' s melted to form a cuboid of length 10 cm

and breadth 8 cm. What is the height of

¢ T g919 & g ST _': . the quboid so formed ?
(1) 45cm
- (@ 38cm

(3) 35cm

B - (4) 25cm
1 5F8/SPACE FOR ROUGH WORK

vel-1/3101 P.T.0.
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[32]
, 4 x’+ L & qm | 108) I 5 her =63 thenifingd x+—
ol ;f . 3 B X
’ (1) 36
Ny TS | oo
% *' | (3) 34
. : @) 32
: A B A 10% IuE 3iF 106. In an examination, A gets 10% nlaore
9T B & C @ 15% 1o marks than B and B gets 15% more
T<T 8T fl A B C A R ofa marks than C. How much percent more
:'.w, i 5‘1 ? ' does A get than C ?
& ' (1) 25%
‘ (2) 261%
1 2
S \ o1,
(3) 28—%
2
(4)‘28%%

% %@ & Y E/SPACE FOR ROUGH WORK
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[33] [C]
107. 140 o T arh dam # 36 o 107. 36 men can build a wall 140 m long in
20 R & &1 & ¥ o qw @ 21 days, in how many days would 15
50 Ho =g g B} 15 e men be able to construct a similar wall
frm Rt & &= & 2 ' 50 m long ?
(1) 20RF 2) 2R (1) 20 days (2) 22 days
- (3) 225RA 4) 18R= (3) 22.5 days  (4) 18 days
108. 212°F F ﬁﬁ*ﬂ'ﬂ'ﬂ @ i forfa 108. Write 212°F in Celsius scale -
(1) 424°C (2) 106°C (1) 424°C (2) 106°C
(3) 112°C (4) 100°C (3) 112°C (4) 100°C
109. [T 3 hﬁﬁﬂ B g, |=T # Y ¥ 109. Mona's father is thrice as old as Mona.
= Tﬁ 2112 o %, A & Rawh # After 12 years, his age will be twice that
3y, AT Y & ST?I & TUET B of his daughter. Find the present age of
AT H AT Y S| H Mona :
(1) 36ad (2) 24 ¢ (1) 36 years (2) 24 years
@) 127 4)718 7 (3) 12years  (4) 18 years
% #d 3 T SE/SPACE FOR ROUGH WORK
R 4 = M 3497 Ao
|2 4 % —
X %’19.7
" 22
& = ) L
718
Level-1/3101
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110. The speed of a 120 m long train is §
km per hour. How much time will it

take to pass a platform 600 m long ?

(1) 50.5 seconds
(2) 51.84 seconds
(3) 52.75 seconds

(4) 58 seconds

111. A sum of Rs. 41 was divided among 50
boys and girls. Each boy gels 90 paise
and a girl 65 paise. Find the ratio of

number of boys and girls :

(1) 18:13
2) 17:8
3) 13 :8
@ 17:13

» T S B/SPACE FOR ROUGH WORK
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112, et By g & &R qur s &1 o

113.

5:381 3R Py oig § & &1 W 30.5

aH R, @ B ug o w0 9R S
i

(1) 20.5 I
(2) 20.8 T
(3) 15.8 7™

4) 18.3 7

I3milﬁq€30@mvgﬁ6mﬂm%ﬁ
X 9T BT B

(1) 2 g9 1 e 10 YF7e

(2) 2 992 15 B9 10 A%

(3) 2 g2 10 fiee 15 d9vs

(4) 2 g2 12 e 20 ¥Fvs

[35]

113.

[C]

112. The ratio of Copper and Zinc in an alloy

is 5 : 3. If the weight of Copper in the
alloy is 30.5 grams, then find the weight

of Zinc in the alloy :
(1) 20.5¢g
(2) 208 g
(3) 158¢
4) 183 ¢

Divide 13 hours 1 minute 30 seconds

by 6:

—
—
~—
2

hours 1 minute 10 seconds

(S
—
o

hours 15 minutes 10 seconds

2 hours 10 minutes 15 seconds

(4) 2 hours 12 minutes 20 seconds

% @ 3 U FE/SPACE FOR ROUGH WORK

R s

Level-1/3101
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[36]

114. Find the area of the iron sheet required
to prepare a cone (with base) is 24 cm

height with base radius 7 cm :
(1) 625cm’
(2) 690 cm’

© (3) 704 cm’

(4) 729 cm’

Find the value of :

[31+
4

(1) 75

115.

3 2
( )
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[37] (cl

a m.q 116. Length of a room is % times it
breadth. If its height be 3.3 m and
A T volume be 1232 m’, find the length of
the room :
(1Y 7.5m
(2) 7.2 m
(3) 82m
(4) 84m

117. Factorize the following :
2 2
(x =6xy+9y")-25

B(t5) | - (M (x-5)(x+5)

y-5) (x-y S¥e \N” = (2) (x-y-5)(x-y+5)
- Ny v
9) (x=3y— (3) (x+3y+35)(x-3y-5)

(@) (x-3y-5)(x-3y+5)

: _ P. 1. Q.




Eﬁhiﬁl%lmmm
) aﬁ‘mq

(2) B 44%

@) & 22%

A A o 8 o w1,

30 e & ofete R #ER el

1A A afear gEE 10 % A
aﬁiﬁtlgﬂ dl =fsar fF w7

[38]

118.

119.

120.

www.makemyexam.in__- Powered by IBT

A fruit seller bought 600 mangoes at 6
for Rs. 5 and sold at 5 for Rs. 6. Find

the profit or loss percentage :

(1) Profit 44% (2) Loss 44%

(3) Profit 22%  (4) Loss 22%

In a shop, there are three clocks which
chime at intervals of 15, 20 and 30
minutes respectively. They all chime
together at 10 a. m. At what time will
they all chime together again ?

(1) 10:45 a.m.

(2) 10:50a.m.

(3), Ny 5a. m.

(4) 11a m.

Find the value of
(1) 58.8
(2) 60.8
(3) 60.2
(4) 62.2

36.1x102.4
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[39] [ C)
W=V /PART =V
YUlERT $1EAE / ENVIRONMENTAL STUDIES
Pt gyt @ gue 33 @ fo qaw afeer ey g
Virection : Answer the Jollowing questions by selecting the most appropriate option
121. iﬂm # aft B %ﬂ Y& B W e 121, The plant whose seed oil is being used
frg Y & d R ? to coat urea |
(1) FIH (1) Cotton
(2) (2) Neem
(3) IS (3) Castor
(4) @@ (4) Jojoba
122. 7577 99 & 999 Hifoma 122; Select the incorrect statement :
(1) T IS & s Ty SILIEA| (1) Power petrol has a higher octane
IS A AfF B 4 number than ordinary petrol
. (2) #Ea C@E—ﬁ? Rt Sam & (2) Carbon footprint is a measure of
Iefta e T8 &t o ¥ Green House Gas emissions by a
product.
" (3) T T g U & ufsrar & (3) Reforestation and afforestation are
fem EREH QI B the two terms used for the same
process,
4 A o ) (4) The correct sequence of the four
(4) AFIS I H il layers of atmosphere s
(ﬁ% il W) 15 W@ﬁ, HHAT Troposphere, Stratosphere,
el AUSH, A HUSH, IMEH HUSq Mesosphere and lonosphere
e (Bottom to Top).
ol
123. '"fFR ofonfg e omfiafy o & 123. The ecological state of "being unique
fafime Sofafar @ afRfefem s to a defined geographic location" is
geograj
B FEx E known as :
(1) EFemd (1) Endangered
(2) T2ftre (2) Pandemic
(3) duroig (3) Sustainable
(4) w=2fi (4) Endemic

Level-1/3101
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124.

125.

126.

127.
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ed by the Government

The award institut
on in

of India for significant contributi
the field of wildlife protection is :
(1) Gargi Puruskar
(2) Indira Gandhi Paryavaran Puruskar
(3) Amrita Devi Bishnoi Award

(4) Priyadarshini Award

The metal found in Chlorophyll is
(1) Magnesium

(2) Cobalt

(3) Iron

(4) Nickel

The World Heritage site of India
located in more than one State 1S :

(1) Valley of Flowers National Park

(2) Mountain Railways of India

(3) Sundarban National Park
(4) Kalka-Shimla Railway

Accortling to the Central Pollution
Control Board (CPCB), what is the
upper limit of sound for residential
area ?

(1) 45 Decibels
(2) 55 Decibels

"(3) 75 Decibels

(4) 90 Decibels
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128. ¥98 o1 @ 798 af o T g

B

(1) 398, ST, g
(2) TIH, 393, s
() ¥, 399, TR
(4) T, s, 39

ITARE S AN oo e ®
(1) =ariE Tt

(2) i St

3) dr Fat

(4) =f¥pra =t

129.

130. e 3 FEaEy Prefifag 3 & g

AGHAT A weH B = F ghn
2 B ?

(1) FEA-3-37FE

(2) I

(3) vw-ary

(4) ST

HIE 9 (§meE) affem 2017

g8 B T ¥ A Pew R o A
drer 2

(1) g1

131.

(2) T

(3) @t
(4) aHF

Level-1/3101

[41]

128.

129.

130.

131.

- Powered by IBT

[C]

The correct sequence of shortest 10

longest wavelength is :

(1) Visible, Infrared, Ultraviolet
(2) Ultraviolet, Visible, Infrared
(3) Infrared, Visible, Ultraviolet

(4) Ultraviolet, Infrared. Visible

An example of conventional source of
energy is :

(1) Tidal Energy

(2) Geothermal Energy

(3) Solar Energy

(4). Nuclear Energy

The level of which of the following

gaseous component increases in the

atmosphere because of deforestation ?

(I) Carbon-di-oxide

(2) Ozone

(3) Water Vapour

(4) Oxygen

The plant excluded from the list of trees

in the Indian Forest (Amendment) Act
2017 is :

(1) Cane
(2) Sugar-Cane
(3) Date-Palm

(4) Bamboo

PIT.O




[42]

134.

135.

132. _Indié's first State tO

133.

www.makemyexam.in - Powered by IBT

release a Climate

Change Action plan is
(1) Uttarakhand

(2) Haryana
(3) Delhi

(4) Kerala

Complex interlinked food chains are

called :

(1) Food Web

(2) Food Network

(3) Pyramid of Biomass

(4) Trophic level

Select the correct statement about

ozone .

(1) The percentage of ozone in our
atmosphere is 7.8% .

(2) Tropospheric ozone is "good
ozone".

(3) Ozone absorbs ultraviolet rays and
form oxygen.

(4) Ozone increases the amount of
chloro-fluoro-carbons in the
stratosphere.

The 'Agenda 21' of Rio Summit 1992

is related to :

(1) Sustainable Development

(2) Polluter-Pays Principle

(3) Environmental Education

(4) Preservation of Ozone Layer



136.

137.

138.

139,

140.
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I B

?}W@Fﬁmg@a:m

AT EM TG Ay
(1) Tgves 2 s 3
(2) agHvEs 2 s RfEeT 2

() I & G Bt
(4) aFAUSH 2 quETh Rt 3

ﬁﬂﬁm%ﬁézﬁﬂﬁqwﬂm

(1) e9af Fut

(2) T THarh

(3) TA-gU F T deE

(4) e T

TAHE B sEmdm  faw z

FfefEs & & #9-0 W\ soie 8
(]

(1) amEg
(2) ¥ s
(3) g g

- (4) FHfEm y=hE W\ (CNG)
__ﬁﬁrmﬁﬁahqusgﬁ@? 72

(1) A9=q ) fra
(3) &= (4) Fgam

SEEUT BT I B4 A AN B g &
TG Y

(1) e-w-fargm ud o

(2) I= TFEN (BRULEH) U HEHy
(3) BEEE ©d FEEEHT

(4) frmmer o wgelfE

Level-1/3101
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136.

137.

138.

139.

140.

[C]

The atmospheric green house effect is

produced mainly by the absorption and
re-emission of :

(1) Visible light by the atmosphere

(2) Infra-red  radiations by the
atmosphere

(3) Ultra-violet rays by the ground

(4) Ultra-violet radiations by the

atmosphere

Which of the following does not deplete
the water table at a place ?

(1) Scanty rainfall
(2) Increasing snowfall
(3) Increasing number of tube-wells

(4) Increasing deforestation

Which of the following gas is produced
by the of

biomass ?

anaerobic fermentation

(1) Biogas

(2) Gas Oil

(3) Natural Gas

(4) Compressed Natural Gas (CNG)

Which of the following is not a
scavenger ?

(1) Mushroom
(3) Termite

(2) Vulture
(4) Earthworm

Select the set of disease caused by
pollution :

(1) Cat-cry-syndrome and Minamata
(2) Hypertension and Marasmus

(3) Marasmus and Kwashiorkor

(4) Minamata and Fluorosis

BRSO
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e, St
kG| At
wfedieH;

141. The incomplete combust

142.

143.

U 0w >

o

jon of firewood

. as rX|.
in homes produce a poisonous g

When inhaled gas X' combines with
substance 'Y' present in blood and
reduces the capacity of blood to carry
gas 'Z' causing respiratory problems.

Identify X', "Y' and 'Z":

x Y /:
(1) Carbon- Oxygen; Carbon-di-oxide
mono-oxide:
(2) Carbon-di- Wwater:  Carbonic Acid
oxide:
(3) Carbon- Haemogl- Oxygen

mono-oxide; _obin;

(4) Carbon-di-  Blood Oxygen

oxide; platelets;

Which of the following is nof a 'green
good deed' ?

(1) Switch off ignition at red light.
(2) Burn the waste.

(3) Keep bird baths and bird feeders.
(4) Eat multigrain.

Match the days given in Column I with
the dates given in Column II and
choose the correct answer using the
codes given below :

Column -1 Column - 11
World Water Day (1) 5 June
Ozone Day (i) 22 April

World Environment Day (iii) 22 May

International  Day  for (iv) 22 March
Biological Diversity

L2ay (v) 16 September




144,

145,
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3 :

(1) AGiv), B(v), (i), D(iii), E(ii)
(2) AG), Bii), i), D(v), E(iv)
() Adiii), B(iv), C(v), D(i). E(ii)
(4) A(v), Bi), Cgiii), D(ii), E(iv)
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(C]

Code :

Aliv), B(v), C(i), D(iii), E(ii)
(2)
(3)
(4)

A1), B(iii), C(ii), D(v), E(iv)

A(iil), B(iv), C(v), D(i), E(ii)

A(v), B(i), C(iii), D(ii), E(iv)

Which of the following is mor a water

borne disease ?

(1) Cholera

(2) Typhoid

(3) Hepatitis

(4) Tuberculosis

Select the incorrect pair

(1) Nilgiri Biosphere Reserve — Tamil
Nadu, Kerala and Karnataka

(2) Nokrek Biosphere Reserve

Mizoram

(3) Simlipal Biosphere Reserve

Odisha

(4) Dehang-Debang Biosphere Reserve
Arunachal Pradesh

The theme for World Environment Day
2018 was :

(1) Connecting people to nature

(2) Raise your voice not the sea level
(3) Beat plastic pollution

(4) Consume with care
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147. Which of the following is Mﬂg"‘"’"
in soil during decomposition organic
matter ?

(1) Water
(2) Nutrients
(3) Carbon-di-oxide
(4) Oxygen
148. Which of the following belong 1o more

than one trophic level ?
(1) Snake

(2) Grasshopper

(3) Planktons

(4) Man

149. The 'A’ coloured bins are used to dump
biodegradable solid waste while the
recyclable left-over are to be dumped in
'B' coloured bins. Identify 'A' and 'B':

(1) A > Blue B — Green
(2) A - Green B — Black
(3) A > Blue B - Black

(4) A > Green B — Blue
150. Select the biotic component of an
ecosystem from the following :
(1) Chlorophyll
(2) Planktons
(3) Sunlight
(4) Soil
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